MERCRUISER [100%2ZER EC)
Serial Mbr Flange: 14035235 Up )

on

27808

lternator
2 16 BEEEI3|STUD, [M10 = 7E) 2
3 10 407108 35| SCREW, [M10 » 35] Hex Flange - £[1
4 BEE325T01 [BRACKET 1
] 10 40107 35| SCREW, (B = 35] 1
5 10 824459110| SCREW, (M8 » 110] Stainless Stee |1
7 11 40136 8|NUT, [M8] Stainless Steel 1




